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Key: F

Key of Frank Sinatra’s Version: D

Harmony: F, Am, Cmé6, D, Dsus4, Gm, Gm7, C7, Faddll, F7, Bb, Bbm, Bbm9, Bb6
BPM:

Video Tutorial: https://www.youtube.com/watch?v=FwH48ydXbFk

Chord Shapes:

F Am Cm6 Dsus4 D Gm Gm7 C7
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Open Verse - Here we utilize longer notes and less strumming

F Am Cmoé6 Dsus4 D
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And now, the end s here, and so 1 face the fin- al cur- tain. My
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Strumming Verse — Here the space is filled with strums, if you prefer one
style you can use it for both of the verses, I arranged it with both to
show you the difference.
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https://www.youtube.com/watch?v=FwH48ydXbFk
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1st Verse — The open style
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Alternative Ending with F13
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